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1. (a) Choose the correct answer :
s e R =g ¢

(i) Which of the deciles are less than the
1st quartile ?- 1

@R 5 It e pgdieTels e
(2) D, and D, (D, W% D,)
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(%) D, and D, (D, % D,)
. © D, D, and D, (D, D, &% D,)
(d) None of the above (89<] «ﬂﬁ‘e *IQ?T)

(ii) . The dechne i birth rate is attached to the
‘ component of the time series : 1

- BoARSITHH ?’ﬁ E .
‘@ Secula; trend (%Effh eReret)
. (b) -seasooal variation (’@ﬁ# W)
(©) Trregular variation (afRafie wfimer)
(d) Cyclical variation (58 wﬁzm)

- (i) If r=21, the two lines of regression

R r=£1 7W, T @l e 5

(@) Coincident (mor@) -
"(b) Parallel (Wm)

(c). Perpendlcular to each other
(T3 =7%) '
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~ (iv) An index number isa: - 1
@Bl PR T

| (5) Speciai type of 'é\?efage

" . (b) Measure of relative changes

HicsfEe siRaeas et
(c) Percentage relative (o<1 SIicsifr)

(d) All of the above (i<W Wﬁﬁ@r&w

| (b) Fill in the blanks :

A SR sfr
. (i) -Population characteristics are called
' 1
e wRER 9 ot =

(ii) The independent - variate values in
interpolation are termed as _ - . 1 .
SIS Joy 5 W
QT =7 |

(iii) The point (%,Y) is the _of two
regression lines. | e 1
(%, y) R Fotremet it oty l
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(c) (l) What are the two control -charts for
variables ? 1

.WWW@TW%%%?

(ii) If Ais an impossible event, what is the

probability of occurrence of the event
A7
. 1

mAWWWﬁ%mW
fReiare

(iiiy If the standard deviation of the series
X5 Xy e » X is o, what is the standard

deV1atlon of the series 10x, 10x,,
10x 2 _ 1

Xis Xpy e, X, (ANOR s Roew o
R 10x,, 10x,, ....... , 10x_ T i

Room R e
2. (a) Whatis the difference between parameter and
statistic ? : 2
oo . ot e e ot
(b) What s level‘ of significance ? 2
S} 1 foe
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- (c) Mention any two properties of regression

. coefficients. ' 2
TR e R’ e 15t ol S |

(d) Mention the two broad ways of controlling the

quality of a product. 2
aﬁac«tﬂ@mﬂﬁifmwﬁtmﬂ@m
Sa 1 |

(¢) Write down the probability distribution of the
number of heads coming when three coins

are tossed together 2
i%ﬁl?t:{m mﬁcﬂ%ﬁmﬂaﬁ ColIRT 787
WY TSRSt B0t il

3. Answer any four of the following questlons :
woig mmﬁmm@mm 5x4=20

(@) In a dlstnbutmnAM 65, Mcdlan 70 and
the coefﬁc1ent of skewness = —~06. Find .

mode and coefficient of variation.

<51 T TG = 65, TOA = 70 S ST -
QTP ——Oétmmﬁ'ﬁq adiss [T
S
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(b) erte a note on the unportance of statistics

in commerce.

mﬂm@qﬁﬂ\wtﬁum\%memmm ‘

frat)

| (c) A candidéte is called for an'ihferview' for three
different posts. For the first post, there are

12 candidates, for. the second there are 15
candidates- and for the third there are 10

candidates. Find the probability of his getting | - R
at least one post : ' ] — — :
o ‘ Profit (Rs. in lakh) :{20-30 | 30-40 | 40-50 | 50-60
RofB fom o MR o AT ARSI o |
e (A TIro) 3 5 .
To! TR| AN AMF AR 12 &, TSR o ot Commmies T 30 1 56 | & | o
o A 15 T WIF PORD! A AT 10T g pames > ,
% iz Afem Swe: @B o AR Sl
_ : ' Profit (Rs. in lakh) : | 60-70 | 70-80 | 80-90 | 90-100

(d) Prove that the expectation of a random S (3R TIIS) ¢ '

B . Oabl Y p ‘. o b ° o : p
variable X is equal to the arithmetic mean. No. of Companies ;| 112 1z | s7 | 26
o T @, ot P T X’ e @ ,"ﬁaﬁ' S B S

( Rt
oIl TP WS WG hail /

(e) Explain- briefly. the use of dlagraﬁls in
presenting statistical data:

mmw@mmﬁaawwm

g AL
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() Explaiﬁ the type one error and type two error
- associated with testing of statistical hypothesis.

SR oFE SANTEE Gae witwe AW
wwﬁmﬁ@amaﬁWWW| _

4. (@ Calculate mean and standard dev1atlon for the
following: distribution : ‘

3+4=7

' wﬁmmmmwwﬁw

'secondary data.
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(b) Distinguish betweent prlmary data and

3

T By W O OYT TG A B
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5. (a) Discuss the advantages.of Sarhple :survey over

census method. . 6
*r*rfw o1 o ﬂf%w*fﬁﬁma qﬁan .
WSRWKETW &

(b) Out of the followmg two lmes of regression,
‘which -one is the regression line of x on y

and which one is' the regression line of y
on x ? : Y

X+ 2y — =0;ZX+.3Yf3‘.=.0,,’

OFR AT ([IMOER @O x IF CoTS
yawqmmmayaemxa
TS 92

1

'X+2Y—5=0;2x+3y_8=0

6. (a) What are assignable and chance causes of
vatiation' in manufacturing process ? When

is a manufacturing process said to be under

statistical quality control ? 5+1=6
@ww 2 e wive Ruer e
W‘fwﬁwﬁaﬁawwﬁsﬁs?
TRAAIA 2t B ~AREAIRIIR actet RageE
I A o =
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(b) If 5% of electric bulb manufactured by a

company are defective, find the probability
that in a sample of 100 bulbs (i) none is
defective (ii) 5 bulbs are defective.
[leen e’ = 0 007] - 2+2=4

3 G uﬂﬁ @vrwnﬁﬁw %&W = ReEnt
AT 5% SIS T, (50T 10051 Reeranfs.
<t afemd oo (i) aﬁr@ whye Ryarife
AP (i) sm@%qvﬁﬁmﬁ T TSI
Refs =911 [l e 3 é 0007] -

(a) Calculate the coefﬁcnmt of correlation from
the following blvanate data , 6

' wﬁwwmﬁawm@m%ﬁﬁW°

x:|112]|3]4 5‘36 718] 9|10
y :[20{16] 14| 10{10] 9] 8| 7| 6] 5

| (b) In a certain class, the average marks obtained
by 100 Students in statlsucs was 72. The
average marks obtamed by 70 male students
was 75. Determine the average marks obtained
by the female students. .4
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%
9‘ (a) "Calculate the overall ¢ost_ of living i‘?d"*;‘ '
- GG 9B GaTR 100 o QAR iR . ~ number from the following data :
.WCWW%%'HHQWW oo fiml OUF o S S fdi an-
CTRI 59 1 AR 75 | widibrecer ool T oI S 0
o mﬁeﬁ A - . o f Group of items  |Group index |Group wei'ght' |
8. (a) Fita linear trend by the method of least square N o AND A6 | AR ¢l |
to the f_ollowing time}series data : 6 : i ' ~ P S
oS ol S Sop AP ot o o | — 250 . 45
YIRS <5t 771 3R et OGN FMs | |Food items R
— ' [ p—
Year : - -]2010) 2011}2012 201312014 , ‘ 320 20
| | Clothing (38) S 5
‘ . ' 190
Sales (Rs. in crores) :f 7 | 10| 12 14| 17 - Fuel @ﬁ) 19 15
R (1 Bore) - ] | House rent (se@r)| 150
R ——— ‘
| Year: - - |2015 -  [Others o) | 300 -~ 15
ol - : ST =6
l:;l;rs (C:émt“;:eg | “ | | (B) Write short notes on any fwo : 3x2
( ) : | | =
(b) Show g Fisher’s ideal index number i) Null hypothesis and Alternative
satisfies both time reversal test and factor | (l)_- hvpothesis.
Teversal test, | - 4 ' VPO —
creat m,%mww@ Y efStaw Re m [Turn over
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(i) Coefficient of variation.

fRoset @z

(iii) Addltlon theorein of probablhty

(iv) Utility of interpdlation in commerce. E
Afere SRR S | |
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